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Directions for the following items: Read the following two
passages and answer the items that follow each passage.
Your answers to these items should be based on the
passages only.

Passage (Set-A Q. 30-33)
It is often forgotten that globalization is not only about
policies on international economic relationships and
transactions, but has equally to do with domestic policies of
a nation. Policy changes necessitated by meeting the
internationally set conditions (by WTO etc.) of free trade
and investment flows obviously affect domestic producers
and investors. But the basic philosophy underlying
globalization emphasizes absolute freedom to markets to
determine prices and production and distribution patterns,
and view government interventions as processes that create
distortions and bring in inefficiency. Thus, public enterprises
have to be privatized through disinvestments and sales;
sectors and activities hitherto reserved for the public sector
have to be opened to the private sector. This logic extends
to the social services like education and health. Any
restrictions on the adjustments in workforce by way of
retrenchment of workers should also be removed and exit
should be made easier by removing any restrictions on
closures. Employment and wages should be governed by
free play of market forces, as any measure to regulate them
can discourage investment and also create inefficiency in
production. Above all, in line with the overall philosophy of
reduction in the role of the State, fiscal reforms should be
undertaken to have generally low levels of taxation and
government expenditure should be kept to the minimum to
abide by the principle of fiscal prudence. All these are policy
actions on the domestic front and are not directly related to
the core items of the globalization agenda, namely free
international flow of goods and finance.

30 According to the passage, under the globalization,
government interventions are viewed as processes
leading to
(a) distortions and inefficiency in the economy.

(b) optimum use of resources.
(c) more profitability to industries.
(d) free play of market forces with regard to industries.

According to the passage, the basic philosophy of
globalization is to

(a) give absolute freedom to producers to determine
prices and production.

give freedom to producers to evolve distribution
patterns.

give absolute freedom to markets to determine
prices, production and employment.

31

(b)

(c)

(d)

give freedom to producers to import and export.

frferRaa srsien’ & forg fdfer: feifeiRaa 3 aResel @i afey
3R ucdd yfes & 3R 31 aTer THTeN & SN SHoTgl 3 waven
% 37T IR 37 YRS 1Y & MR 8i4 =1fayl

TRTET (Set-A Q. 30-33)

I AR e fr S § 6 RreeardiaRor Saa iRy
e el 3R oS el el & A & & TE &, sfew
TAPT TRIGR T WY 6T DT ERe Aferal F o 81 SieRiSy
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 rgerar +ff SeuT AR Wb ol WATAR @, 157 i e F
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30 39 UReUT & AR, Rereardiesor & siaia WReRT gwaml
I W AfRAAT3N b ®U F T el 7, fieie T
(a) 3refearaver 3 fagRRrat afiv srqerar omeht &
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(d) ST & Heyr & AR e1fenal & TRIRIRY wad By &

31 39 UReUT & SR, Rrereardieor 7 e 3o 82
(a) drTl 3R ScuTe & frreiRor & forg Seare®i @ qot
TEcsAT S T

AT T

(b)
(c)

(d)
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32 According to the passage, which of the following is/are
necessary for ensuring globalization?

1. Privatization of public enterprises

2. Expansionary policy of public expenditure

3. Free play of market forces to determine wages and
employment.

4. Privatization of social services like education and

health
Select the correct answer using the code given below:
(a) lonly(b)2and3only (c)1,3and4(d)2,3and4

33 According to the passage, in the process of
globalization the State should have
(a) expanding role (b) reducing role
(c) statutory role (d) none of the above roles
Official Answer key: 30-a 31-c¢ 32-c 33-b

32 3 IRe0T & AR, Rrereardieor i s & fog
frreferRae & @ BIF-ATRY arraedsw 282
1. AT SEMT BT fFofiesor
2. QoI g H fRaR-Afa
3. a9 IR ASAR FrefRa Badt aIoTR erferal 6t vads
wfefafy
faret 3tk TaTeeT SR AR Jare @ frotieor
ﬁ%ﬁqwaﬁmmmﬂﬁﬁ?ﬂﬁv
(a) PaeT1 (b)mzsﬁw (c)1,33ﬁv4(d)2,33ﬁ'\r4
33 3 UReUT & NN, Rrereardiesor 6t ufipar & roa 6t
ffrepT et BT AATTEY?
(a) R enites
(c) wifafrm

(b) Tt g
(d) SuG 7 A B TE

Passage (Set-A Q. 52-54)
Many nations now place their faith in capitalism and
governments choose it as the strategy to create wealth for
their people. The spectacular economic growth seen in
Brazil, China and India after the liberalisation of their
economies is proof of its enormous potential and success.
However, the global banking crisis and the economic
recession have left many bewildered. The debates tend to
focus on free market operations and forces, their efficiency
and their ability for self correction. Issues of justice,
integrity and honesty are rarely elaborated to highlight the
failure of the global banking system. The apologists of the
system continue to justify the success of capitalism and
argue that the recent crisis was a blip.
Their arguments betray an ideological bias with the
assumptions that an unregulated market is fair and
competent, and that the exercise of private greed will be in
the larger public interest.
Few recognize the bidirectional relationship between
capitalism and greed; that each reinforces the other. Surely,
a more honest conceptualisation of the conflicts of interest
among the rich and powerful players who have benefited
from the system, their biases and ideology is needed; the
focus on the wealth creation should also highlight the
resultant gross inequity.

52 The apologists of the “Free Market System” according
to the passage, believe in
(a) market without control by government authorities.
(b) market without protection by the government.
(c) ability of market to self correct.
(d) market for free goods and services.

53 With reference to “ideological bias”
that
(a) free market is fair but not competent.
(b) free market is not fair but competent.
(c) free market is fair and competent.
(d) free market is neither fair nor biased.

, the passage implies

54 “The exercise of private greed will be in the larger public
interest” from the passage

GRTBT (Set-A Q. 52-54)
3 15T 39 YoltaTe & framy & § O WRER 3O AR &
fa wwufy wftfa wve 6t oy & & F s g 81 s,
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3R g3 ﬁm%ﬁﬁwmaﬁmaﬁmﬁ%ﬁ
T, SeafrST sﬁ?éqﬁmﬁa?qﬁmauhﬁ?ﬁaﬁmm
&1 59 YOI & el GoNaTe Bt Wi T it SERRy &
ST & 3R SepT T & fp oo Wene Teb erarepr 2l
I TF ITd RERURET THIE BT $0 TIEROT F AT HHe
AT T IAFR TR Apied § s
waﬁquﬁaﬁsﬁvma?aﬁa%ﬁ&wmsﬁaﬁw
I §; f5 T TP BT IRYE F=a B T v 9/, 5
SAERAT I AT qﬁm@rmaﬁ?vemﬁam%tﬁaﬁﬂa%ﬁ
& THRME, TP FOE IR RERURTST & svaea st
SAFER AFITAARUT 6T ATaedhaT 81 A & FURT ol Pl
g o T P AT IAH TRUTRERRY AT el SRAAAT
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52 9 UREDE & ITAR, “Job qTSTR AaRAT” & T foperd
foramy v ¥
(a) TR miEmTREY & =T 9 fEd awR
(b) SRR ARETUT A Jeb AR
(c) STOTR Y T P JUTR Y &T
(d) fr:ere avgelt a Qarsil & fag IR

53 “RramuRrTd gdre” & e ¥, 59 ufeos o fafyaref @ 2

(a) T AR AR g & fg warT T8
(b) T ITSIR =TT & BT oy warT & &
(c) T ISR AN 7R FerT 8ear &
(d) T IR 7 Y ~ATAR 8 8, 7 & udreas
54 39 URTYT A “fFrol ATerd T HagR JeTR dAlwfed BN,
1. doftare &t 1t R ot fiffe sar &1
2. 9 ISR & IR ST Bl TR AT 8 |
3. Folare & wgraef I8 B REmar 1
TROTTY et ST B Se et & 1
Gﬂﬁ?ﬁmﬁﬁaﬁ#—wﬁw@r%@"
(a)%ﬁam (b) 23R 3 (c)13iR4  (d)PacT4

1. refers to the false ideology of capitalism.

2. underlies the righteous claims of the free market.

3. shows the benevolent face of capitalism.

4. ignores resultant gross inequity.

Which of the statements given above is/are correct?

(a)lonly (b)2and3 (c)1and4  (d) 4 only
Official Answer key: 52-c 53-c 54-c
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Passage (Set-A Q. 55-58)

Net profits are only 2.2% of their total assets for central
public sector undertakings, lower than for the private
corporate sector. While the public sector or the State-led
entrepreneurship played an important role in triggering
India’s industrialization, our evolving development needs,
comparatively less-than satisfactory performance of the
public sector enterprises, the maturing of our private
sector, a much larger social base now available for
expanding  entrepreneurship and the growing
institutional capabilities to enforce competition policies
would suggest that the time has come to review the role
of public sector.

What should the portfolio composition of the
government be? It should not remain static all times. The
airline industry works well as a purely private affair. At
the opposite end, rural roads, whose sparse traffic makes
tolling unviable, have to be on the balance-sheet of the
State. If the government did not own rural roads, they
would not exist. Similarly, public health capital in our
towns and cities will need to come from the public sector.
Equally, preservation and improvement of forest cover
will have to be a new priority for the public sector assets.

Take the example of steel. With near-zero tariffs, India is
a globally competitive market for the metal. Indian firms
export steel into the global market, which demonstrates
there is no gap in technology. Indian companies are
buying up global steel companies, which shows there is
no gap in capital availability. Under these conditions,
private ownership works best.

Private ownership is clearly desirable in regulated
industries, ranging from finance to infrastructure, where a
government agency performs the function of regulation
and multiple competing firms are located in the private
sector. Here, the simple and clean solution—government
as the umpire and the private sector as the players is
what works best. In many of these industries, we have a
legacy of government ownership, where productivity
tends to be lower, fear of bankruptcy is absent, and the
risk of asking for money from the tax payer is ever
present. There is also the conflict of interest between
government as an owner and as the regulator. The
formulation and implementation of competition policy
will be more vigorous and fair if government companies
are out of action.

55 According to the passage, what is/are the
reason/reasons for saying that the time has come to
review the role of public sector?

1. Now public sector has lost its relevance in the

industrialization process.

2. Public sector does not perform satisfactorily.

3. Entrepreneurship in private sector is expanding.

4. Effective competition policies are available now.
Which of the statements given above is/are correct in
the given context?
(@) 1and 3 only
(c)2,3and 4 only

(b) 2 only
(d)1,2,3and 4

gRNTOT (Set-A Q. 55-58)

BT AT 2.2% &, ST A13aC T 8 Y o § &9 21 el &
TSI~ &5 AT AST-FATferd STFGIRT = IR & 3iTeifenor
P IR B & Ageaqul yftrer P &, denfy, g ged g
R smawEEa], WdGte &Fe Il F AdNee o
TP T FreUTeH, §AR WIgdT & § g aRueaa,
IEMYRT & TR 2 T T U BE| IATUD ST AFTAD
TR SR wRrifrar ARl &1 A R @ F Ied &
wivenfie wed 7E e ¥ R Wi S H it &
QARAEIE BT T ST T 2

TR PT ATHI-AEST ST ST ATET? T AR 79T ReR T8
T XET AfEY R ST guid: wTgae Al fY avE wel-
AT PR AT B TR >, AT TSH DY, T Peye
ATATAT TR SIRAT Bl FAGERS ST <l &, IS & Jori—a
R BT AT AT ATHIOT Wedh WRSBR & FTfIeT F 7 8, ar ST
3ifTed & 7 T S AR, TR BRAl SR TRI F Al @Ry
Uoft T AT &5 W T Sl 81 S MR, aTenIeT &
ST & W9 H BT A1

SR PT & IITERVT ¢l T T FLed b AT, IR 9 41
% fAT o Wi UfcrRlt IIoR 81 RS AIR-yfrse fora
IWR & e @ Frafa axa €, R a8 Freffa gar & i
Tenfrht F P iaRTer & 81 RS BrafET fre i s
g+ o g Y& 8, it 9% farar & ot Sueeerar § a1
SFCRTET TE1 81 37 T3 H, UTgde ¥aTfied ¥ I e gl

fafrrafia et &, R ¥ dex muTRe wRE=T 9@, usde
TATRCT WIh AR R e+ 8, STat axary iyt fafore o
P foeo= Y 3R ager TRE @IR-IRTS sgae ame §
sraferd gl Fgf, @ReT iR T FHMH E—WRBR BT Goaug
(3FURR) & IRE BT 3R 13T & &1 Raarfeat Y avg er
& A DT AXE PRI BRAT &1 ST W 3D SN H, WRARY
<afee Bt RRIA &, STeT Scutaear @ Jgfy Segd &9 e
BT IR &, RarferioT &1 o i 78 &, iR Sxararsi F o7 6
qIT BT SRET T 997 83T 81 T IRBR & Tl e 3R
frame 89 & T 1@ fFa—gvg ot 991 5T 81 Iy WwRen
HFfrET RN 7 &, dr aferifar ify 6t == ik erafraa
3R oY Hereh 3R Frsuer

55 39 UREOT P IR, g HeT Pifd FAT PR o8 b

TSI+ S Y T 3 gRREeHDT BT T 31T TR 82
1. Siferiexor o § s adGie &@ | et
weifwaT @ S &

2. QTSI+ & HaSoi® & W feure T8 srar
3. WIEdE 8% ¥ Semghy e & ¥

4. 39 guTaer aRERh it Suered &

fRrg g wef &, Sude F W PH-AIR B FE 3E?
(a) PaeT 1 3R 3 (b) Faer 2

(c) PaeT 2,3 3R 4 (d)1,2,33k4
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56

57

58

Official Answer key: 55 -c

According to the passage, rural roads should be in the
domain of public sector only. Why?
(a) Rural development work is
government only.

Private sector cannot have monetary gains in this.
Government takes money from tax payers and
hence it is the responsibility of government only.
Private sector need not have any social
responsibility.

the domain of

(b)
(c)

(d)

The portfolio composition of the government refers to

(@) Public sector assets quality.

(b) Investment in liquid assets.

(c) Mix of government investment in different
industrial sectors.

(d) Buying Return on Investment yielding capital

assets.

The author prefers government as the umpire and
private sector as players because

(a) Government prescribes norms for a fair play by the
private sector.

(b) Government is the ultimate in policy formulation.

(c) Government has no control over private sector
players.

(d) None of the above statements is correct in this
context.

56-b 57-¢ 58-a

56

57

58

TRR ¥ & EFT ARl FA?

(a) TTHIOT PRI dhereT ARBR BT ARBR-T &

(b) ST ForoTY &rsres @Y o o TEY &Y el

(c) IRPR BR-SATA A & A 8, 31T TE WRBR BT &
IRea d

HISAC &5eh Y BIS AHIID fSTHERY BT IATTeTD
T T

(d)

TRBR BT W RAITT-eres fopvy fifde sear &2

(a) WS & i afwrafy T

(b) e uRFufaar F fraer

(c) i sitenfirp et & w=aprY ferarer fysror
(d) frrreT o= mftrohet S aTelt dott uRkra e & e

AGH PR B WeAUT (FFIRR) B a8 AR Hsde 85w
(a) RBR TSI &5 & frouer Brf & forg Avevs fafsa
AT &

Hifer & TeT b T AR & sifeT W d

TRBR PT ATZAC &P H PR B aTedl IR DI R0
T8 g

3 A H I FAl § A 1S oft W A 8

(b)
(c)

(d)

Passage (Set-A Q. 70,71)

In front of us was walking a bare-headed old man in
tattered clothes. He was driving his beasts. They were all
laden with heavy loads of clay from the hills and looked
tired. The man carried a long whip which perhaps he
himself had made. As he walked down the road he stopped
now and then to eat the wild berries that grew on bushes
along the uneven road. When he threw away the seeds, the
bold birds would fly to peck at them. Sometimes a stray
dog watched the procession philosophically and then
began to bark. When this happened, my two little sons
would stand still holding my hands firmly. A dog can
sometimes be dangerous indeed.

70

71

The author’s children held his hands firmly because
(a) they were scared of the barking dogs.

(b) they wanted him to pluck berries.

(c) they saw the whip in the old man’s hand.

(d) the road was uneven.

The expression “a stray dog watched the procession
philosophically” means that

(a) the dog was restless and ferocious.

(b) the dog stood aloof, looking at the procession with
seriousness.

(c) the dog looked at the procession with big,

wondering eyes.
the dog stood there with his eyes closed.

(d)

39 gReDT & forg UPSC 7 &t sigare 781 faar o |
FAfeTY, $WPT 3ATS All Inclusive IAS FTRT 1T TaT 2 1

TRTET (Set-A Q. 70,71)

TR A BS-QRT HUST H Yeb 1 AR aTeT g7 3Tei =1et TeT
oT | T8 319 SIERT BT FeT &7 o7 | & Wit it & frdt &
Y R W o< §Y & 3R ob §Y T X o | S et & grr
T ST AT AT ST 2ATRIE S & R AT | HaS-TaS A
TR FORT Y IE TSP P fpAR FfSAT 0R I aver Siedt T
@ & forg Srar-dter ¥ web T AT | S 7€ ST et o, A gaft
I UR A AR & f1G IS o1 | - U STTART et Seqet
B1 ITeif1e wO F ST o1 SR AR e T o | 5 ST
BT, A 3R QA B AT N gl Y AT | UHS G @ | T
T - AT & EARATS 8 W B |

70 IS & el A IP g1 Y AT W UHS T ifen

7

a) IdlTAIAFAARTY

b) FaEIAfraERa

c) B I Y & ey ¥ A T
d) WSP Hes-TEs i

Sifieafts T SITART FT 7 S[eld BT aTeif+d B & <@T™ P
arf g fop

a) T SR PR AT

b) T SICHT-2TeT TST BT SeTd P ITHIRET 3 S TgT o7
c) PO SIS, BRI ATl W IRIT Br <am

d) P A ¥ g aE TeT vET
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Passage (Set-A Q. 72-75)

Cynthia was a shy girl. She believed that she was plain and
untalented. One day her teacher ordered the entire class to
show up for audition for the school play. Cynthia nearly
died of fright when she was told that she would have to
stand on stage in front of the entire class and deliver
dialogues. The mere thought of it made her feel sick. But a
remarkable transformation occurred during the audition. A
thin, shy girl, her knees quaking, her stomach churning in
terror, began to stun everyone with her excellent
performance. Her bored classmates suddenly stopped
their noisy chat to stare at her slender figure on the stage.
At the end of her audition, the entire room erupted in
thunderous applause.

72 Cynthia was afraid to stand on stage because
(a) she felt her classmates may laugh at her.
(b) her stomach was churning.
(c) she lacked self-confidence.
(d) she did not like school plays.

73 Cynthia’s classmates were chatting because
(a) it was their turn to act next.
(b) they were bored of the performances.
(c) Cynthia did not act well.
(d) the teacher had no control over them.

74 Cynthia’s knees were quaking because
(a) she felt nervous and shy.
(b) the teacher scolded her.
(c) she was very thin and weak.
(d) she was afraid of her classmates.
75 The transformation that occurred during the
audition refers to
(a) the nervousness of Cynthia.
(b) the eruption of the entire room in
thunderous applause.
(c) the surprise on the face of her classmates.
(d) the stunning performance of Cynthia.

TRTBT (Set-A Q. 72,75)

fafrar ye erifett ersdt o | ST 9T o7 {36 a7 WAy
3R aRrTEA © |t R Swd Rierd 7 of Fam @Y ¥hd B
ATed & TS & forg Sufera 81 @1 eneer i | o Rifdmr
Y AT AT 2 IR O FET & A T UR ST BT &N 3R
AT ST BT AT I8 SX A T R &Y 1 off | 39 IR &
TS AT | 98 SR T8 IR W6 o | Afdp afifse & SR
TP Seora g aRec gam TP uxel, et e, forad
e P12 A, ST U S P AR el T8T 2T, I 370+ e
e & i Y wiepT AT | I e §Y AEuIfSAl 7 D
He IR SHDY Uciell BRIT B 3T & fA7 NR-¢RI arelt arardia
§T TR &Y | IS TS P 37T H T FHRT AfHAT BT TSTSTES
A 3T

72 AR v WR S BN A X Y@L ot i
a) S T fF ISP WSUTS! IF UR gAY
b) SHBIYE T
c) SN AMHRAHRT Y Y ot
d) S TP B ACH THE TE
73 AR & WEUTSY Tl AR I o AP
a) AN PR FY 3FTEAT IR SHT oY
b) AT ATHIGH Y
c) Rifdrar sreeT s 781 o7 w6 ot
d) 3181 &1 97 R DS ferizor 7T o
74 AR % ge Fiv 2 A TN
a) TEURISES AR g s N
b) firers 7S Sier an
c) dEagd Al R FHAR off
d) 9% U AEUISAT I SRt ot

75 ST & SR St aRet ga1 SweT aread &
a) Rif¥rm &t gsRTEe
b) Rl &Y TSTSTES § TR HHR BT TG
c) Sh AEUIfSEl & eR Ux et
d) Rifrr & orFeER ueeH

UPSC dropped Q 70-75, hence no official answers were given.
Answers by All Inclusive IAS:
70-a 71-b 72-c 73-b 74-a 75-d

UPSC Q 70-75 ST f&hU o, 3wfory sifératives S 18l 13 o

Practice these questions yourself after gap of 1 week. See official answer key from here

1 QHTE & 3R b 91 T T4 T TR T |

https://allinclusiveias.files.wordpress.com/2024/02/csat-official-answer-k&y-till-2022.pdf
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